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King Saud University Math 218- First quiz—Sem I (2021) Time: 30 min
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I) Choose the correct answer (write it in the table above): (';///"16:/"/,'1"36,. —
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(a) xy~8 (b) z=1y=8 (€] (d) y
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3) The domai is (—3 /00
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(a) (=3,00) (b) [=3,00) (c) (=00, =3) U (-3, 00) (d) R
\
1 Z
R P I(I:i'l)"t‘\j[ 7‘7/ LA 2rt | _(tY) = X
d) T ecuals im‘-, ) — % Ctl) e W\) p, &
B2
: T z+1 (e) 1 (d) =
(a) r+1 (b) r

Scanné avec CamScanner



5) The cquation of the line passing through the point A(1,2) and parallel to the line

y—xr=0Iis

3: i\

() y=x+1

(b) y

=—-x+1

()r+y—-3=0

(d) y==2=~1

6) The center of the circle with equation (z + 1)2 4+ (y — 2)? = 9 is the point C L_\l 7’)

(b) C(0,0)

(¢) C(~1,2)

(d) C(~1,-2)

7) If z1 =2+ 17 and z90 =4 — 2i, then 2129 equals 4,0

(a) 10 (b) 6 (¢) 6 —8i (d) 8+ 2
8) The solution of equation 8 — 2z = —7(x+1)is X =-3
(a) 2z =3 (b) z = -3 (@ =1 (d)yr=-1
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A) Find all the solutions (real or complex) of the equations:
(i) % -6z +13=0,

0=4 ; b=-6 ;c=13
cvimnent D= Brodac = 3b-hud =<t =@
Sl mMinawn -
—b-VK

2= —oVE . B-a
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—bVD _ 3420
x)_-; -

2a
r+D 5 28
(it) r—2 ;L'+2+.z:2—»l'
D¢ = ®\3 '-?25
lk % ¢ Dg, (x+5) (xx2) _ S(x-2)+ 28
(- (n+2) 2 *—4 a2
(xx3)(wt2) = 5x —\o +28 =

x i Fx ~lo = Bx+ld

A& 2x— B =2 b x=-4-
@ Z)L,L_,‘_A‘_.O So bg‘é Qn

B) Solve the inequality ('_'_12)# > 0.
3 -
et x :f: ;1'1 — 3 —-(—4\ =+ \+
i M N
1“3 — — — —+
Quz)("“). _ I
We oleduu k¥ QC—&-’L)(X ‘) > o ‘f,TP 'x_eL-z 1](}(3 —f—OO)

(e-3)

C) Find the coordinates of the center and the radius of the circle with equation

.1'2+y2+2;c—4y—4=0.

@ X2 % 4 51—45 —4 =o
crfis gl Ao o
g s B < o el e
[ & aF e (-4,2) and

o diug V.2 3,
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